
Tarefa	
  sobre	
  espalhamento	
  de	
  Rutherford.	
  

	
  

Problema	
  1.	
  Uma	
  partícula	
  alfa	
  com	
  uma	
  energia	
  cinética	
  de	
  0.27	
  MeV	
  se	
  
dispersa	
  em	
  uma	
  lâmina	
  delgada	
  de	
  ouro	
  em	
  um	
  ángulo	
  de	
  60o.	
  Achar	
  o	
  valor	
  do	
  
Parâmetro	
  de	
  impacto	
  correspondente.	
  

R/	
  b=0.73	
  pm.	
  

Problema	
  2.	
  Um	
  próton	
  com	
  energia	
  cinética	
  T	
  y	
  parâmetro	
  de	
  impacto	
  b	
  
dispersou-­‐se	
  no	
  campo	
  coulombiano	
  de	
  um	
  núcleo	
  imóvel	
  de	
  ouro.	
  Achar	
  o	
  
impulso	
  transmitido	
  ao	
  núcleo	
  de	
  ouro.	
  

R/	
  p=2	
  [2mT/(1+(2bt/Ze2)2)]1/2	
  

Problema	
  3.	
  Um	
  próton	
  com	
  energia	
  de	
  1	
  MeV	
  atinge	
  um	
  núcleo	
  de	
  ouro.	
  	
  
Determine	
  a	
  secção	
  diferencial	
  de	
  espalhamento	
  elástico	
  (Rutherford)	
  para	
  que	
  
este	
  seja	
  dispersado	
  em	
  um	
  ângulo	
  maior	
  o	
  igual	
  que	
  90	
  graus.	
  Se	
  uma	
  partícula	
  
alfa	
  atingir	
  o	
  mesmo	
  alvo	
  com	
  a	
  mesma	
  velocidade,	
  quanto	
  será	
  a	
  secção	
  de	
  
choque	
  correspondente	
  (para	
  espalhamento	
  de	
  90o).	
  Compare	
  os	
  dois	
  resultados	
  
e	
  explique	
  as	
  causas	
  físicas	
  das	
  diferencias	
  encontradas.	
  

	
  

R/	
  σ=π(blim)2	
  

blim=b(θ=π/2).	
  

A	
  secção	
  de	
  choque	
  de	
  Rutherford	
  escala	
  como	
  (ZP/mpv)2,	
  sendo	
  que	
  aqui	
  as	
  
velocidades	
  são	
  iguais.	
  

	
  

Problema	
  4.	
  	
  Um	
  próton	
  com	
  energia	
  	
  cinética	
  	
  E=10	
  MeV	
  atinge	
  um	
  elétron	
  livre	
  
e	
  em	
  repouso	
  com	
  parâmetro	
  	
  de	
  impacto	
  b=10	
  pm.	
  Calcular	
  a	
  energia	
  
transferida	
  ao	
  elétron	
  durante	
  a	
  colisão.	
  

R/Te=mpe4/meb2T=4	
  eV	
  

	
  


